M451/551 Quiz 3 //

February 3, Prof. Connell
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1. A five-year $10,000 bond with a 10% coupon rate costs $10,000 and pays its holder
$500 every six months for five years, starting at the end of the sixth month, with a final
additional payment of $10,000 made at the end of those ten payments. Write down
its present value if the (nominal yearly) interest rate is 6%. Assume the compounding
is monthly. (You do not need to simplify your expression.)

Steg Phyneg ~loed 890 S0 S0 S00 STO S0 S0 SP0 spo 50y 10 e
AU il el Rl
i A 010 RN B S S S |
( 7' < 2 L ly ¢ -
Yeroo o Voo v ez i o YL A 1z 3
o R AN
0 [,

/

Y /2y P 3) e e ] 10, 0oolol
P\I(kaﬂér*\): ~lo,000 + 500(st)+ 500t )+ 5OQ‘~9L«)‘L FiOw o7 TS

| \

| LI R
whang - ]:Eg@,: 140005 <005
|
Hent, -ty Present Yaloe 4. ) ~0
o e O (l. OU§)
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(Problem #2 is on the other side.)



2. Show that the yield curve 7(t) is a nondecreasing function of t if and only if

P(at) > (P(t)* forall 0 < a < l,t%). Recall P(t) = exp (_ f"r(s)ds)-
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